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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

(Sl pole 8319) Sy g (00

76.

77.

78.

79.

80.

81.

82.

83.

84.

8s.

86.

Which of the following sentences is grammatically correct?

1) My father always wears his small beautiful new Italian glasses while reading a book.
2) My father always wears his beautiful small new Italian glasses while reading a book.
3) My father always wears his beautiful new small Italian glasses while reading a book.
4) My father always wears his new beautiful Italian small glasses while reading a book.

I have free time -------------- Friday morning and I am completely sure that I -------------- help you
with English.

1) on/can 2)in/ can 3) on / may 4) in / must

I don’t mind -------------- research alone, but I would like -----—--------- with other people most of
the time.

1) doing / working 2) to do / to work 3) doing / to work 4) to do / working

If you want -------------- the story book, you ------—-----—--- because the story in the book is very
surprising.

1) reading / will be surprised 2) to read / would be surprised

3) to read / will be surprising 4) to read / will be surprised

The man who was a great scientist and doctor in Iran ---—---------—--—- many different types of books
and finally --------—----- at the age of 95 last year.

1) developed / died out 2) published / passed away

3) attended / got away 4) published / gave up

Technological advances have helped doctors to --—----—-----—-- many different new medicines to ------
-------- people’s lives.

1) collect / save 2) quit / develop

3) develop / save 4) gain / create

If you decide to travel to Spain, you should go to the -------------- of that country to get your visa
so that you can stay ------—----—-- there and enjoy your trip.

1) embassy / safely 2) observatory / actually

3) agency / safely 4) paradise / wonderfully

People often like to buy the -—-------—-—- products and goods of their country because they believe
that the quality of their country’s products is much better than ever before.

1) generous 2) hospitable 3) foreign 4) domestic

Scientists believe that dolphins are very intelligent sea animals like large fish and it is difficult to
-------------- the intelligence of dolphins, but we know that they have very large brains.

1) vary 2) develop 3) measure 4) defend

The government must plan to solve the problems of the young people that have graduated from
university are unemployed and actively -------------- work.

1) creating 2) seeking 3) gaining 4) identifying

Iran has different types of handicrafts produced in different parts or regions of Iran that represent our
national -------------- shaped by our history.
1) souvenir 2) influence 3) addiction 4) identity
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87. 1 know some poor people living in Tehran have no enough money and are forced to live on -------
------- most of the time.
1) charity 2) diversity 3) identity 4) popularity

Part B: Cloze Test

Directions: questions 88-92 are related to the following passage. Read the passage and
decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Literature includes plays, poems, novels and short stories. It is writing that carries strong and lasting
values through (88) ------------- the reader important insights into the nature of human emotions.

For example, the English playwright, William Shakespeare often (89) -------------- .his plays
on old or well — known stories, and because Shakespeare was a very skilled writer and had a great
understanding of human nature, his plays still (90) -------------- audiences of all nationalities
hundreds of years after they were first put out. Literature can be (91) ------------ , as 1t can express
the writer’s thoughts, ideals and beliefs. Authors have often used literature to protest (92) ------------
in the world, make a social criticism, and influence the opinions of peoples. For instance, in “The
Grapes of Wrath”, American novelist John Steinbeck drew public attention to the suffering of
homeless farmers escaping from Oklahoma to California during the “Great Depression of the
1930”.

88. 1) comparing 2) offering 3) observing 4) attracting
89. 1) connected 2) increased 3) based 4) developed
90. 1) excite 2) collect 3) exist 4) connect
91. 1) successful 2) immediate 3) previous 4) powerful
92. 1) pressure 2) injustice 3) direction 4) balance

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

PASSAGE 1:

Weather forecasting is the use of science and technology to predict the state of the atmosphere for a
given location. Human beings have tried to predict the weather informally for thousands of years,
and formally since the nineteenth century.

Weather forecasts are made by collecting quantitative data of the current state of the atmosphere
on a given place and using scientific understanding of atmospheric processes to predict how the
atmosphere will be on that place.

Once an all — human endeavor based mainly upon changes in barometric pressure, current
weather conditions, and sky condition, weather forecasting now relies on computer — based models
that considers atmospheric factors. Human input is still required to select the best possible forecast
model to base the forecast upon, which involves pattern recognition skills, teleconnections,
knowledge of model performance, and knowledge of model biases. The ever — changing nature of
the atmosphere, the great computational power required to solve the equations that describe the
atmosphere, error involved in measuring the initial conditions, and an incomplete understanding of
atmospheric processes mean that forecasts become less accurate as the difference in current time
and the time for which the forecast is being made increases.



93. According to the passage, weather forecasting --------------- .
1) has a long history 2) is a new technology
3) began less than 100 years ago 4) in not as effective as it used to
94. The passage is mainly concerned with -------------- .
1) the reasons why humans are attracted to weather forecasting
2) the circumstances under which weather men make mistakes
3) the early methods used to predict weather conditions
4) a definition of weather forecasting and the way it is done
95. What does the passage state about the role of humans in modern weather forecasting?
1) Human work is a necessity.
2) there is no need for humans.
3) we can do weather forecasting with no expert knowledge.
4) computers can not play any role in weather forecasting.
96. The word “endeavor” underlined in paragraph 2 in closest in meaning to --------------- .
1) development 2) demand 3) attempt 4) inspiration

PASSAGE 2:

In all societies, a section of the population is labled as “old”. What is different from place to place is
the age at which people are considered old, and the way old people are regarded. In modern
industrialized societies, old age begins at 65 or 70; in contrast, in the 19" century old age began at 55.
In many poor countries, where people’s life expectations are much lower, someone as young as 40
may be an old person.

In some societies elderly people are thought of as wise and experienced, and they may even be
the leaders of the community. But in western societies, the elderly are sometimes disregarded.
Having reached a certain age somewhere between 60 and 70, they maybe expected to retire from
their jobs, even if they are still able to work efficiently. Gradually their ties with the community are
released, and in many cases they live in communities make up entirely of old people.

The rapid aging of the populations of all the industrialized countries is due not only to people
living longer, but also to a sharp decline from the 1970s onwards in the number of babies being
born. Women tend to live longer than men so that in 1985 for every 100 women over the age of 70,
there were only 63 men. It is also true that the better — off members of the society can expect to live
longer than the poorer, since they are generally better fed and have superior medical care.

97. According to the passage, --------—---—- .
1) 2000 years ago, an old person was at most 55
2) people are considered old depending on their country
3) someone as young as 40 is usually called an old person
4) people in modern industrialized societies die sometime between 65 and 70
98. The passage is mainly about --—----—---—--—- .
1) different societies 2) population size
3) aging in modern societies 4) old age
99.  Which of the following is Not true according to the passage?
1) The better — off members of the society can expect to live longer than the others.
2) Sometimes between 60 and 70, some people stop working.
3) Very young populations are decreasing in all societies.
4) Women may live longer than men in all societies.
100. The word “retire” underlined in the passage is closest in meaning to -------------- .
1) leave 2) develop 3) transfer 4) increase
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